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General Instructions :

1 Candidate must write histher Roll Number on the first page of the Question Paper.
2 Please check the Question Paper to verify that the total pages and the total number of questions

contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3 - For the objective type questions, you have to choose any one of the four alternatives given in the

question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given to ] /
you.

4 All the questions including objective-type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate. '

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper Code No. 69/MAY/4, Set-| A | on the Answer-Book.
8 (a) The Question Paper is in English/Hindi medium onl
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the' language you have chosen to answer in the box provided

y. However, if you wish, You can answer

in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi

e : L and English, the
- responsibility for any errors/mistakes in understanding the question wij]

be yours only.
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General Instruction / AT ST :

1. Answers of all questions are to be given in the Answer-Book given to you.
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2. 15 minutes time has been allotted to read this Question Paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.
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MATHEMATICS
T Ty
ety i
Time : 2% Hours]. (9)) [Maximum Marks : 85
O .
§ 0 23 uw] o [ : 85
Note : (i)

1) This question paper consists of 44 que;{ions in all.
(i) All questions are compulsory.

(iii) Marks are given against each questiony ey
(iv) Section A consist of

(@) Q. No. 1 to 17 - Multiple Choice ége questions (MCQs) carrying
1 mark each. Select and write the @fiost appropriate option out of
the four options given in each ofthese questions. :

(®) Q. No. 18 to 28 - Objective type qtiestions. Q. No. 18 to 27 carry
2 marks each (with 2 sub-parts of-i mark each) and Q. No. 28
carries 5 marks (with 5 sub-parts of 1 mark each). Attempt these
questions as per the instructions g&v;en for each of the questions

- 18 to 28. T -
(V) Section B consist of (Ve

(a) Q.No.29t037- Very Short'Answergpe questions carrying 2 marks
each. ‘ G '

(b) Q.No. 38 to 42 - Short Answer t)@e questions carrying 3 marks
each. g :
(c) Q.No. 43 and 44 - Long Answer type questions carrying 5 marks
: each. : . ;
Ma: () =9 uee X g 44 w97 3 - tﬂ
(i) @ v et ¥ : g
(iii) TEF T F A o Ry T ¥
(V) '3 — F H wmim ¥ ﬁ '

(2) T 1§ 17 7% Tghmwd ok % 9 ¥ ot vl 1 o
W%lsaﬁﬁmuﬁﬁﬁqwﬁﬁwffémmﬁm
@ T HY g ¥ ] ;

(b) WT-HEm 18 ¥ 28 7% GRS YHR & W9 I, I-tEn 18 ¥ 27
'aaimgﬁzw%%(mlw%zaw—wﬁ%w)'m
uaw—ﬁwzs,saﬁaﬂ%(WIW'%SW—W%HW)IW
7T 18 ¥ 28 & fyw Ru o ﬁésiit.?i IR W % 9y g
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; SECTION—A(W—E

1  Factors of.3x2—x¥4a'.re:
3x?-x—4%§m1§é§: 5
@ (3x-4) (x-1)

/® (Bx-4) (x+1) s

© (3544‘) (-1) Bamion o

M) (Bx+4) (x‘:+1)4" L A s %

2 If2p+1,13 and 5p—3' are in A;P;,'iheii fhe value ofp_:is: i ' : |

-3 @ T 3 T

% p b

B e e B




i : A point both of whose x and Y coordinates are negative lies in: 4 !

(A) 1% quadrant (B) 2" guadrant

4%0) 3" Quadrant . @) 4 quadrant

Wﬁﬁﬁlﬂ%ﬁﬁiaﬂmeym%,azﬁm%z

(A) S ety & (B) _ fadm =gty ﬁ
(©) T aguty ¥ (D) @Y wgefyr &
5 If the y coordinate of a point is zero, then the point lies: 1
% (A) in 1%t quadrant (B) in 2nd quadranlt |
(C) on x-axis A - | (Ij) on y-axis o
ot foh g a1y s s ¥, < g P
(A). vud agafsr & - B fadim agata & - ‘
(©) xam W D) yEEw |
. _ : “,
6 S OIf anarc 9‘f¢ ;a;_:gir;gfle,subtends_ aryg‘a;,.ngl'eto_f x° at the centre of the circle and )P at 1
any pqint on fhé remaining part of the circle, theﬁ the relation betwécn x and y is:

LIS TR




7 TP and TQ are two tangents, from an ex{emal point 7, to a circle with centre O. 1

If ZPOQ=110°, then ZPTQ is:

@qa,hwﬁﬁgo%,%wﬁg TR TP 7o T F9 & @ @ Y@

¥ aft £POQ=110° @ ZPTQ w7 i 3: g

(A) 60° By 70 g ;_
2 ;
o

(€ 80° ' D) 90°

8 If PQ is a chord of a circle with centre O and the fangent PR at P makes an angle 1

096:

“of 50° with PQ then ZPOQ is:

’

it v g, T &= g 0 &, ﬁwm@%wﬁgz’w@iﬁﬂiﬂﬁ
%@PRvﬁmPQ%smasoommwa‘f%ehéPOwa%
(A) 100° | (B) 900

9  The curved surface ar

" and base radius 7 cm i



Total . : |
10 olal surface areq (in cm?) of ajsolld hemisphere of radius 10 cm, 1
when T=3, 14 is: . @
Ub 3 arefeirey ﬁaa?rhmmo%ﬁr% wwg@um(ﬁﬁﬁ)
Tﬁﬁ' R=3.14’ %: O
(A) 840 - (B) 842
B
(C) 940 :g (D) 942
m
11 The curved surface area of a cézﬁmder of helght 14 cm is 88 cm?. The diameter ol

(in cm) of the cylinder is: ¢

TH o, ﬁwﬁmﬁmaﬁr%@wwmmssaﬁﬁ%lwwaﬂm

GRS
A) 05 ®B) 1

(C) 15 ®) 2

0009655

1-tan?45°

12 The value of 1S
1+tan? 45°

{450

H AN &

P

1—tan

R

l+tan®45°
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B sin222°+sin268°+ 25 o o ’
e e o ~ sin“ 63° °si SHisE

e, cos? 22° + cos? 68° e

2 5) [ ) o

22°+sin” 68 .

sz 5 +sin® 63° + cos 63° sin 27° | @1 | &

cos” 22°+cos” 68°
A) 3 : B) 2
o) i, ©) 0
If tan (4-B)=—7= and tan (4+ B)=+/3, then the values of 4 and B = .1 3
respectively are: o : ' o ’ | ; .
afs tan(A'-B)=:/1_§ a ian(A+B)"=J§:; qA A TN B B BAN W E: "

(C) 45° 30° ;

(A) 45° 15°



16  The median of 10, 12, 14, 16, 18, 20 is: f 1

10, 12,-14, 16, 18, 20 =1 =has &

(A) 12 B) 14
(C)FrISE (D) 16
17 A die is thrown once. The probability of getting a number between 2 and 6 is: 1

T W T AT e 12 79 6 % A A v s w0 A i b

. 1 ' - 1
(4) = B 3
©aig Do

18 Fillintl_ieblanksi : " _ e . 2

(i) If the 15t term and common dlfference of an A. P. are 6-and 5 respectlvely, then

'7
the 11th term of the A.P. is - \\ i

(ii) The sum of first ten terms of the A.P. 7 14 21,28,

ﬁﬁmaﬁrﬁaﬁﬁm

@) . uﬁwaﬂm%wwwqaahméwm 6@5% ?i’rwmm

é\@rmllarqe ' L

B 7,14, 21,28, .. % o < 0ot wam
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20

Match Column-I statement with the correct option of Column-II :

Column-I : Column-1I
(i) The coefficient of y in the linear @ 0

equétion 5(2x—4) A8 + 4y -T7=0is:
(ii)) When y=3 is exprbged in the form ®B) -3

ax+by +c=0, then'the value of a is:

e © 4

WY1 & YT B - Eﬁﬁm%m&ﬁmﬁﬁﬁq

WH-I = - wwI

(i) haw adem 5(x—4)+3x+4y—-7=0 A) 0
H y @1 U § _

(ii) ﬂﬁy=33ﬁax+hl£+c O%quf‘cﬂ'ﬁ B) -3
fopar ST, & a @ gy T o

) : Q) 4
S ©
o _
Match Column-I statement with the correct option of Column- I : '
Column-I . : Column-IT
(i) If the roots of the dﬁdratlc equatlon : (A) 3 and 4
(o— —3)x% +4(0— 3);@-4 0 are equal and (B) 4and 5
real, then the valuegbf o is: © 2
@) If x=5 is a root (g.he equation . (DRG

!

x2+kx———0 theRThe value ofk1s

i

'm&%m‘mwm— aﬁﬁm%mﬁmqaﬁﬁﬂq




21 Fill in the blanks - 2
) 20t,h term from the end of the AP. 3, 8, 13, ... 253is -
(i) If the first term of an A.P. is 5, last term is 45 and the sum of all terms is
400, then the number of terms of the AP, is
() R S 3, 8, 13, .. 253 & ST & 209F T2 2
(i) 3 O oo I &1 v 9 5 3, SR 9z 45 ¥ ol 9 & @ G B
uﬁn4oo%,ehma€ras?a’f#ﬁw 1

22 Write 'True' for correct statement and 'False' for incorrect statement : ° z

(1) The graph of the linear equation 2x — 3y = 6 intersects the y-axis at the

point (0, 2).
(i) The graph of x =2 is a line parallel to x-axis.
Hﬁ?ﬁuﬁ%mwehﬂaamm%mmﬁm :
() Sdia-cswﬂwzx 3y =6 F1 AW y-3e B g (0, 2) T ARTDT BT T
(i) x=2 % WG, x—HA F THAL TH 1@ &

23  Fill in the blanks : ; ' 2
(i) If the distance between the points 4 (0, 0) and B (x, 3) is 5 units, then the value
of x is :

(i) If the mld point of the line segment joining the points (x, 4) and S, 12) is
4,9, then the value of x is ‘

ﬁaﬁwﬁ%ﬁqﬁm

6) uﬁ:ﬁgaﬁA(o O)H?JTB(x3)%éﬁil%§ﬁ53W’§% @A x & 7
s

(i) afy fagen (x, 4) T (5, 12)$rwh3%aﬁ%@w€mqwﬁg(4 8) %,
| @A x B A |

"y nati Ed uc eI~
899436384, 9654279279
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25

N
Write "Thie' for correct statement and 'False' for incorrect statement :

\D |
a If ‘é’%hord‘ of a-circle is equal to the radius of the circle, then the angle subtended

by<the chord at a point on minor arc is 30°.
(i) If the tangents P4 and PB from an external point P to a circle with centre O

aref inclined to each other at angle of 8’00, then £POA is 60°.
()
T e T T Sl T wy & frg e ffe
¢ - |
ﬁéﬁﬁﬁ@mmm%m%,ﬁwﬁmmwmﬁw

fafifar @ 300 ®)
{:3 Gone
(i) aRk o g9 Frgar = g 0 &, % Tm fag P & X wsf Y@ P4 @ PB

msmmaﬁwmﬁ%,@rﬁmmm6m%|

i
V)
(o)
Fill in @ Blonkos

(1) Pﬁ is a secant and PT is a tangent to a circle. If PT = X cm, PA=4cm and

AB =5 cm, then the value of x is
; 4

(i1) A@s a diameter of a circle and XPY is a tangent to the circle at point P.

1f§§PBA=30°, then ZBPY is

fr ] 1 g B

'(i) w% g9 %1 wWet @r PT q1 85% (Wl PAB §1 4 PT=x §#1, PA =4 ¥t 91

Abﬂsﬁr?hxaﬂqﬁ Sty

(ii) q%amqmmw%amqa%ﬁgquaiﬁrqaswaﬁm)a’}’%
!ﬂgAPBA 30°, 9 £BPY @AW ¥l |
o




e s e e

Fill in the blanks : i) z

X8
(i) Ina AABC right angled at C, if AC% cm and 4B =8 cm,
then Z4= : g
(i) Ina AABC right angled at B, if BC=5cm, /B4C =30°,
then 4B = 5 i)
fra =t 6 o < Q
() & A4BC, Tgd £C=90°, af§ AQ%4 T qur 4B =8 9,
P E : Q
Q)
(i) TH A4BC, e £B=90°, @k BGE5 AW, LBAC =30°,
@ AB =
U
, L
Write 'True' for correct statement and 'Falsélﬂfor incorrect statement : e 2

(i) Two dice are thrown together. Probability of getting same number on
both dice is %. e s

(ii) Two coins are tossed simultaneously. iProbability of getting at least one

I £ Sir
Tl | g

T Buq & fow wmww%h@wm
@) A T e o ¥ A

T W T e T a




28

Cost of a washing machine is ¥ 19,400, but due t0 Diwali Festival Sale it is

available for ¥ 4,200 cash down'payment followed by three equal monthly instalments,

Shopkeeper charges interest at the rate of 16% per annum under this instalment plan,

On the basis of the above inforrnatioﬁ, answer the following questions:
Let the amount of each equal instalment.be ¥ x, then
(i) Total interest paid'under the plan is:
(A) ¥ (3x-15,200) | B) T(x- 15,200)
(C) T (x-15200) (D) T (15,200-x)
(i) Amount owes i)y the buyér to the seller for 15t month is:
(A) 4,200 bt W(B)  T19:400 ’
(€©) T 15200 (D) R 11,600
(iii) Amc;unt owes b): the buyer to the seller for 3/ month is:

@) T1520  (B) T(15200-%)

© < (15,200~ gay (D) Z (15,200 - 2%)

Y

Total amount pa1d by the buyer under the mstalment plan is:

33 Tﬁ'i 4? Gy

7

®) ?1'5500”




T T A o o 719,400 % mﬁaﬂ%%%m““ﬂqﬂzoo 8

m‘i’mﬁmﬁﬂmq@mmﬁwhwﬁmmﬁmw
6%?‘]%“%%%?@

Wm%mw%ﬁrﬂaﬁuﬁr%ﬁtﬁm

Wﬁhﬁnmwmmnam .
@) S’Eﬁm%wﬁwﬁﬁﬂmmﬁ@ﬁmT%‘
(A) ?.(3x—15,200)$ - ®) T(@x-15200)
-(C) 4 (xﬂ-ls,zoo) g (D) X (15,200 -x)

(i) TR ¥ T wigl R A 3 e T %

(M) R 4200 B) 219400
©) % 15200 “Lﬂ’ @) 11,000

(iii) wmﬁmg@,mﬁaﬁmw%
() % 15200 0 ) e
© 2 (15,200—3x)° (D) T (15200-2x)

() mm%mﬁmmwﬁqﬁ@mﬁ;
(A) T19400 \D  (B) 15200
: o |
(©) (4,200 +3x) 8 (D) ' (19,400 —x)

-uaaa;ﬁmaemm%o

B -(A). 74200

LI DT
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’proﬁt for the entire penod of 3 years

SECTION -B /&% — ¥

' By
Find the LCM of P(x)=(x—2)(x2_3x+2) O = 2

P(x)=(x—2)(x2_3x{2) qun Q(x)=x2-_l4 ?ﬁf’ 9. o Gl

OR / s it
If x—-1—=2, find the value of 22—
x ‘ x2
afy x—— 2 & x +—Wqﬁﬁlﬁﬂﬁﬁﬂl
A man started a business with an initial investment of ¥ 5,00,000. In the 2

first year, he incurred a loss of 4%, however, during second year, he eamed-

a profit of 5% which in the thu'd year was raised to 10%. Calculate his net

4% T TS, TEE
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32

i : d
Find the centroid of a triangle whose vertices are 4 (5, —2), B9, o)t
C @4, 5).

@@ﬁﬁawmmmm it 4 (5,-2), B(9, 6) T c@, 9 ¥
OR / 3

Find the coordinates of a point which divides the line segment joining the

points 4 (-1, 3) and B (2, -3) in the ratio 1 : 4 internally.

Wﬁﬁ%ﬁisﬁwwﬁ#ﬁqﬁﬁgﬁA(—l,3)au1B(2,—3)m’rﬁ<‘rrﬁaT@f°f@T
WS B 1:4 % o o A Rl FE

ABC 1S an 1sosce1es triangle with AB AC and XAY is a tangent to the

circumcircle of A 4BC. Show that XY is parallel to the base BC of the triangle.

ABC@anitmgﬁga%mﬁAB ACamﬂYfagaABcaaqﬂqaa;ﬁg
AWWQT%@T%W&TEQ%XY&HG%WBC%W%l

73

rliic quadrilateral in which 4;4 (x+2y) AB (Sy x) AC 2x

MRy

2
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Find the perimeter and area of the sector of a circle of radius 14 cm and 2

L
central angle 30°. i)

W0
qmqa,ﬁm?rﬁmmﬁvh%,a;@@ﬁﬁgugmqﬁmmmmw

e F=d BT 300 ¥ g

OR / 9

The sides of a triangle are 3:5:7. If the perg?}eter of the triangle is 60 cm, then

find its area. L}Q

ﬁgﬂﬁgwqwﬁaaqqmﬁ%.qﬁﬁamamqﬁmm%% @A IHH

A T BT | o
2

A solid metallic sphere of radius 21 cm iéé%nelted and recast into a number 2

of smaller solid cones, each radius 7 cm -%gu}gi height 3 cm. Find the number of
' o
g % TH 3 7w, e Bear 21 5 %, Bt fewme $u U 39 9 S S
%Wﬂmaﬁﬁm7éﬁraﬂ1“ﬁé3§§r%lwmﬁﬁﬂa@aﬁa&m
T DI | - G
()
R ;
o) /w@
(i)

‘two-third of its total surface area.

cones so formed.

Curved surface area of a solid cylinder is

If its total surface area is 231 cm?2, find 1ts radlus

@WWW%WWMWWWWﬁ—W%mﬁWW

ﬁg&ﬁumzmaﬁﬁﬁ% ﬁrwﬁﬁgmm,
. @. _

Ui ’"’hatl Ed" ucaﬂ"UW&‘C"""
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36 i ;
Find the median of the following data: :

f Wmmmmm:
i
i

X |5115125]354510355
f-8101624157

C00S6

37 A bag contains 5 red, 4 black an? 3 green balls A ball is drawn at random P

from the bag. Find the pl‘Obablllt? of getting :

(1) red or green ball g
(i) a ball which is not red. =
@Faﬁﬁi5m,4m&haﬁ13€§3’§a%|%ﬁﬁwﬂ?m@mﬁmﬁﬁﬁﬁ%l
. Foriefam 7 s e < R g e

3
(i) TP W srgar w0 A7 )

_ o
(i) TH W A @ W w Y &

i)
38 Solve the followmg system of lﬁfgar equations graphlcally

ﬁwﬁf@amﬂﬁwmaﬁcgﬁ@uﬁﬁﬁwaﬁﬁq

x+y:5,x_y=1 @

Ty
i)
l.ﬁ
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40

41

The length of a rectangular garden is 7 m more than its breadth. If area of

the garden is 144 m?, find the length and breadth of the garden,
T ST T B A sy e @ 7 dew ot ¥ AR T B dwm
144 =f #T ¥, a;.@mmmwmm

OR / @

The altitude of a right triangle is 2 cm more than its base. If the hypotenuse

of the triangle is 10 cm, find the other two sides.

@Wﬁgﬂmaﬁéﬁammﬁz'%m%luﬂwﬁ‘ﬂﬁﬁw
loﬁ%ﬁ#m\“ﬂa‘rﬂw'iaﬁ?ﬁmy

Prove that the tangents drawn from an external poiht to a circle are of equal

length.
’ﬂﬁgaﬁﬁﬁq%%@mﬁgﬁﬁw@%ﬂn{wﬁ@waﬁmwﬁ%

Two perpendicular paths of width 10 m each run in the middle of a

rectangular park of dimensions 200 m . 150 m, one parallel to the length and
other parallel to the breadth Fmd the cost of constructmg these paths at the

rate of ¥ 50 per m2

‘iw-

200ﬁax150maﬁmaﬂalﬁwwnwaséﬁﬁermhﬁwwm

3

S




A Iectangular sheet of metal with dimensions 66 cm x 12 cm is rolled to form

a cylinder of height 12 cm. Find the volume of the cylinder.

“‘ﬁﬁww@amﬁrﬁmwﬁxlzwiaﬁwﬁsﬂﬂﬁ
lzﬁh%w_w-aww%lémwmmm|

42  If the mean of the following data is 8, find the value of p: 3

uﬁﬁ%ﬁﬁﬁﬂiﬁ’fﬁ%S%,?ﬁpwmmﬂgﬁﬁm

X;13(5[{7[9]11]13
Fle|8|15[p[8]4

43 Construct a triangle 4BC in which AB=5 cm, BC=4.2cm and median . 5

CD=3.8 cm.

 w frgw ABC & T B, et AB =5 3, BC=4.2 ¥ ohe st
CD=3.8 ¥ |

OR / 3o

“l
Draw a circle of radius 3.2 cm. From a point P outside the circlé, draw two

tangents PQ and PR to the circle.

e

32ﬁﬁﬁmquamlqa%wﬁwﬁ=gPﬁqaaﬁamﬁm
PQ @ PR @iau| L

i
)5

[



s

e

ol

44

tower. (Use v3=1.732) ‘ 0

The shadow of a tower, when the angle of elevation of the Sun is 30° is

found to be 10 meters longer than when it was 459. Find the height of the

~

@WWW45°Q30°E\%WW-W8W 10 #rX w8 W ¥

ﬁwaﬁiﬁémml (Ji=1.732 Siftr) o

OR /@ O
m :
A aeroplane when 3000 m hlgh passes vertlcally aﬂa/e another aeroplane at an

instant when the angles of elevation of the two aerﬁblanes from the same pomt

: on the ground are 60° and 45° respectlvely Find t@ vertlcal distance between

the two planes. (Usc J_ 1. 732) !
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